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1. Explain the difference between experimental 6. Which model would you use to determine
probability and theoretical probability. Give each probability?
an example to show the difference.

2. After six rolls of a standard die, the
experimental probability of rolling a 3 is 2
‘What do you expect will happen to the
experimental probability if the die is rolled
90 more times? Explain.

3. Two four-sided dice (each with numbers 1
to 4) are rolled.

a) Use a tree diagram or an organized list

to show all the possible outcomes. a) Two field-hockey teams are equally
b) What is the total number of outcomes? matched. What is the probability that the
¢€) What is the theoretical probability that same team will win all of the next four
the sum of the numbers rolled will be 8? games they play against each other?

b) To qualify to win a trip to Orlando, you
must guess the week of the trip. What
is the probability that you will qualify?

4. Adele, Dennis, and Marie are siblings.
The sum of their ages is 30. Marie is the
eldest, and Adele is the youngest. None of
the siblings are older than 15 or younger
than 5. No two are the same age. List all
the combinations of ages they could be.

¢) There is a 30% chance of snow on
each of the next three days. What is the
probability of getting snow on one of
these days?
5. Shad has 29¢ in his pocket. He could have
any combination of pennies, nickels,
dimes, and quarters.

~

. Joan plays on a soccer team. She can
usually score on a penalty kick 6 times out
of 10. Describe a simulation that you could
use to determine the probability of Joan
scoring on her next three penalty kicks.

b) How many combinations have fewer Explain why your simulation is appropriate.
nickels than dimes?

a) How many different combinations of
coins are possible?
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[image: image2.jpg]Practice Questions 4. Asif, Sean, Bill, Francis, and Andrew are
running against each other in a 100 m race.
=2 1.a) Create a tree diagram to show all the They all have an equal chance of winning.
possible outcomes for one spin of the (12.4)

spinner and one toss of the coin. a) Show the possible orders for the first

three runners crossing the finish line.

b) What is the probability of Andrew
being one of the first three runners to
cross the finish line? Assume that there
will not be a tie.

5. Suppose that you have dimes, nickels,
b) Calculate each theoretical probability. and pennies. (12.4)
) P(7 and H) a) What is the greatest number of coins

i) p (odd and T) you could use to pay for an item that
iii) P(neither 5 nor 6, and H) costs 45¢7

iv) P(3 or4, and T)

v) P(2,and HorT) b) In how many ways could you pay for the

item using fewer pennies than nickels?

23) 2. Suppose that you choose one card and spin
the spinner once. Calculate each theoretical
probability below.

6. Which model would you use to answer
each probability question below? (12.5)

A B.

a) P(greater than 7, and C)

b) P(not greater than 7, and C)
¢) P(not an ace, and A or B)
d) P(an ace, and B or C)

'2.3) 3. Calculate the following theoretical
probabilities for a family with four a)
children.

Each question on a multiple-choice
quiz has four choices. What is the
probability that you will get at least six
answers right if you choose your
answers randomly?

a) P(two girls and two boys)
b) P(not two girls and two boys)

¢) P(the youngest and oldest are boys) b) Sanjay, Rita, and Kieran are equally

d) P(at least two girls) skilled at a trivia game. What is the
probability that a “best of seven series”
will end in four games?
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[image: image3.jpg]- b) In a game of chance that is played in
Q CheCkmg pairs, you can win, lose, or tie with

3. Which model(s) could be used to simulate equal likelihood. What is the probability
the experimental probability for each that you will win three games in a row?
situation below? ¢) According to a poll, two of the

candidates for mayor each have 30% of
the votes. The third candidate has 40% of
the votes. What is the probability that the
third candidate will win the election?

5. Which model(s) could be used to
determine the probability of each event?
Justify your choices.

. A. : B.

a) If six runners in a race have equal ability,
the tallest runner will win the race.

b) The week that your name is drawn in a C.
weekly prize draw will be the week of
your birthday.

¢) It will rain tomorrow if the forecast is a

2% chance:ol raln. a) You will select the only red jellybean in

d) You will find a prize in your cereal box a bag of 26 jellybeans.

if there is a prize in every eighth box. 10 .
b) You will score Toona true/false quiz

. b, ing.
© Practising y guessing , ,
¢) A family with four children has all girls.
4. Which spinner(s) could be used to simulate d) The next three days will be rainy if a
the experimental probability for each 30% chance of rain is forecast for all
situation? three days.
A.

@ Extending

6. Francine wondered if the next three people
to walk into a room would all be male. She
simulated this situation by flipping a coin

a) You have volunteered to help out one three times. Heads represented males, and
day at a weeklong summer festival. Tails represented females. Explain how you
What is the probability that the day could simulate the same situation using
assigned to you will be Wednesday if each model below.

the days are assigned randomly? a) dice 8 Hepher

b) playing cards d) abag of marbles
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